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1). What is the use of grade ‘00" accuracy slip gauges? | IS 00’ ST dl
f¥TT TS IR S 377g?

(A) Inspection grade | quraf g
(B) Tool room applications | ¢& ©=H Gﬂmﬂﬂ

(C) General workshop applications | STHI-T HIIABT 31’:[@"'[
(D) Calibration grade | CA R

Correct Answer : D

2). What is the name of the operation that corrects the profiles of
cylindrical surfaces and removes taper? | ¢STllcl[R U§
G5 PRUMT 31107 CUR i b UIRIT S{TUR HTd HI 3Hg?

(A) Boring | ST

(B) Honing | BT
(C) Grinding | AIS(ST
(D) Reaming | SIfHT

Correct Answer : B
..................................................... .

(A) Distance between outer points of the rollers | JAciedT aTal fogHdTa iR
(B) Distance between inner points of the rollers | NEREIEIGIS] ﬁqmﬁa 3R
(C) Distance between centre points of the rollers | Wm@iﬁﬁ R

(D) Distance between the edges of the sine bar | 91gq IR Hegdd 3R

Correct Answer : C
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4). Why manual strokln% is preferred for large quantities in honing

operation? | BT AT SUANTITST Hg 37l I T TR ol
HRard

(A) To reduce cost | faa (amawmmﬂ) HHI HIOATITS!

(B) To reduce time | J% qrRIGUITHTS!

(C) To keep close tolerance | 3{dX U HHI STUITITS!
(D) To reduce maintenance cost | TTHT T HH! HITATIS

Correct Answer : C

5). Which is used to clean the lapping plate after charging? | EIS
DR WU HWU?JNB‘%) EIERGINIGIF

(A) Oil | dd
(B) KeroseneHﬁWI

(C) Coolant oil | aic 3iisa
(D) Petroleumjelly|a§3ﬁ%ﬂﬁ@ﬁ

Correct Answer : B

(A) Silicon carbide | WW%@
(B) Diamond |3Tq1:i_6'

(C) Boron carbide | WW%E

(D) Fused alumina | TISS Tegfaterd

Correct Answer : D
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7). Which is the hardest of all abrasive materials? | BEREREL R MG
Hald B3I DI 3MTg?

(A) Silicon carbide | Riclia 1 Hraise
(B) Boron carbide | aﬁqmﬁg
(C) Diamond | SAHS

(D) Aluminium oxide | TcgfEF13MH 3ffeIss

Correct Answer : C

8). What is the name of the operation shown in the figure? &W‘i@[
d BT 3Te?

G

A
5

(A) Internal ring lapping | 3{Teitet f fuT

(B) External ring lapping | CIRSIERRISIEY]

(C) Lapping internal cylinder | 3refiet Riciex dft
(D) Lapping large diameter | HIoT AT WfuT

Correct Answer : D
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9) What is the purpose of drilled holes in sine bar? | WW@@'H
Hoiedl [Saa I BT 3Te?

(A) Clamping of dial test indicator | STUcT o SfShed FImT
(B) Clamping of slip gauges | 19 TIomd FRAfaiT

(C) To reduce the weight | IS HHI HRUGTETS!

(D) For aesthetic purposes | gtz %’@

Correct Answer : C

What is the result of lap being harder than the workpiece? |
&1 <10 BT SRIUTTT URUITH BT 3T5?

(A) Workpiece will cut the lap | GH U SUdT HTY Al

(B) Accuracy cannot be obtained | 3 d] ﬁ@: Qb TG
(C) Lap will cut the workpiece | S0 T UTAT BT

(D) Lapping operation leaves high spots | STUIT AT d1d 1T feTard

Correct Answer : A

11). Which process is carried out with abrasive sticks to correct the profile

""" of int 'rﬁél_c'%ﬁndrlcg] ﬂf? 352'5? [%%WWSW i

(A) Lapping | <TG
(B) Honing | BT
(C) Grinding | TTS81T
(D) Filing | BIAIT

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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12). Which surface is being lapped using the split bush shown in the
figug?{% pae aRifdced g ATOR DH DU JEHRT AT dhell
Sl 3Te?

(A) External cylindrical surface | 9Ta a@ﬁw YBHRT
(B) Flate surface | Tic U8

(C) Internal cylindrical surface | WWWW
(D) External taper surface | 9Tl TR UEHIT

Correct Answer : A

13). What is the name of the part marked as ‘X’ shown in the\;;_i%ure? |
""" X BEAIE $§E&i! Hd P le?_ " 7T
ntact - 937094 8055403224, 9325721873

4/‘?"

A Cc

(A) Height of slip gauge | T Ao 3t
(B) Length of sine bar | méq IRAT et
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(D) Taper angle | TR B

Correct Answer : A

14). What is the name of the part marked as "X’ shown in the figure? |
EEIS C'(IQQIdQ'iQ'LII X' U Id'E;IIObd Holedl I A1d H1 \31T%7

(A) Stone|dTS

(B) Bronze guide | 3!731 MmesS

(C) Universal joint | {'{ﬁaﬁﬁ Sise
(D) Expanding body | TGS Tl

_____ Carrect ANSWeL : B _ L o L o L o L L L L e e e e e e e eee e - SRR
Contact - 9370948482, 8055403224, 932572187

15). What is the name of the shpgﬁ rade used for mspectlon? |
IR ST Reqyg 535

(A) Gradel|JS"I"
(B) Grade '0’' | IS "0"

(C) Grade 00" | IS "00"
(D) Grade "lI" | TS "II”
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Correct Answer : B

16). What is the use of Taly - Surf? | Taly - Surf 1 IUIN ST 38?2

(A) To measure angle | FHIF AU
(B) To measure flatness | Tcic"qg ASToarTa

(C) To measure parallelism | HAA] HIST0aTETo!
(D) To measure surface texture | YU U AU

Correct Answer : D

L% What is the use of frosting operation? | TAIIRCTT IR SUANT BT
?

(A) To decrease the oil retention on scraped surfaces | “@“ﬁqéﬁwqgwmﬁﬁaéa YR
DHH! HIUGRIIAI

(B) To increase the oil retention on milled surfaces | B EFSW-II‘IiOR qd YTRUM I uargTa!
(C) To increase the oil retention on scraped surfaces | U AT UEHIAR I YR
qreauaTHIat

(D) To decrease the oil retention on milled surfaces | B qgumiqe T YRUM HH

18). Which one forms the hypotenuse of the triangle while checking with
sine bar? | YigAdR wﬁ%ﬁnmmﬁaaﬂw YT B I0T=

(A) Surface plate | WHY We

(B) Sine bar width | ﬂ'l'sfzf CREIRE]

(C) Sine bar length | AIgAaRA! didt
(D) Slip gauges height | RAUTSRT 3t

_______ Correct ANSWET = € o e
Cont act - 9370948482, 8055403224, 9325721873
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19). Which is used to clean the slip gauge? | f&TU T T HRUIRITS]
HIOTAT ITURET STTd?

(A) Wax | & (HIH) o7
(B) Kerosene | M|

(C) Soluble oil | ETdUT a@
(D) Carbon tetrachloride | CaCE %@'IW‘R‘I’{S’

Correct Answer : D

20). What.is the name of the instrument that measures surface quality

hown in the figure? | 3THaH aRifdcedT JEHFTT T[0TG
snown In :l_lea-é?_rlg'e )

--"9370948482, 8055403224, 9325721873

(A) Dial test indicator | ST C¥C S8ldhcR

(B) Electrical surface indicator | sadg‘\lcbﬂ IRbY ss“l&:ce

(C) Electronic surface indicator | sadgmd%l IRGY ésnlabc{

(D) Mechanical surface indicator | ﬁ%ﬁwms@ﬁw

Correct Answer : D
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21). What is the height of slip gauge (q = 25° = 0.4226)? | wﬁ?ﬂ?{@ﬁq
TIort 3t I (g = 25° = 0.4226)

%

i
1)

(A) 41.26
(B) 42.26
(C) 43.26

(D) 44.26

Correct Answer : B

22). Which precision finishing operation carried out using fine abrasive
materials? | SRI &Wmﬂtﬁpdlueﬁd HIUTd 3D fﬁv‘ﬁ%m

" Contact - 9370948482, 8055403224, 9325721873
""" 0 I = 22
(B) Grinding | ATSf&T
(C) Reaming | 38T

(D) Lapping | ST

Correct Answer : D

23). What is the advantage of using a pair of special jaws in slip gauge
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holder? | f&TT 711 glegH Y fARIY Sayidl Siis! AIURUATET 61T BRIGT 38?

(A) To measure the external & internal dimensions | dTgl 3nfor 3favfa ufeHTo!
HISTUIRITST

(B) To measure the height | 34t A0 T3!

(C) To measure the steps | U1 AT
(D) To measure the angular dimensions | DI URATO HISTogrETat

Correct Answer : A

24). What is the name of the part marked as X" shown inthe figure? |

X' TUH Fergifrd dheiedl I A1d b1d 318?

(D) Width | SISl

Correct Answer : A

25). Which material is used to make slip gauge block? | T TS sl
DHIUTdT YT ATORATd

(A) Tool steel | QF‘IR%‘[
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(B) Low grade steel | Sd1 Id

(C) High grade steel | 3= ol Wa

(D) High carbon steel | 31T BT Kd

Correct Answer : C
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NIMI Mock Test

1). What is the name of the key shown in the figure? | &ﬂﬁﬂ?ﬁ
fb et ATd BT 3MTe?

g%}%

.,

)

(A) Sunk key | ¥ &1
(B) Feather key | fthar @t
(C) Flat saddle key | ic ded Bl

(D) Hollow saddle key | Bidll T&d Bi

Correct Answer : B

2). What is the name of the file shown in the figure? | &I@?ﬂﬁm

q1d ST 38?2

Contact - 9370948

(A) Tinker’s file | ﬁwtﬂgﬁ
(B) Crossing file | BT BIsd
(C) Swiss pattern file | a9 Ued wisd
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(D) Dread naught file | 8 Aic BIgd

Correct Answer : A

3). Which key is useful for fitting on tapered shafts? | IR YMHREAR HIUT!
! fihe sga?

(A) Feather key | fthaR &1

(B) Gib head key | V1§ &S @I

(C) Woodruff key | §S3% 3|
(D) Flat saddle key | Tic dsd Bf

Correct Answer : C

4). Which file used for delicate and intricate work? | A5 3TfUT ﬂﬁﬂl?ﬂ"a’iﬂ
BN BV BTgel ATURE! Sl?

(A) Swiss pattern file | TH Ue B
(B) Pillar file | fUeR WIsd

(C) Dread naught file | HI®HX / S8 Aic BIgd
(D) Warding file | I RURCIES|

————— Correet Answer -A-

Contact - 9370948482, 8055403224, 932572187

5). What is the name of the locking device shown in the figure? |
Al T SUBRUIT ATd BT 3‘”%?



javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 14

b —

(A) Tab washer | 9 dlRR
(B) Locking plate | b wie
(C) Lock washer | Qi dITR

(D) Spring washer | 8T IR

Correct Answer : D

6). Which special file is used in narrow workpieces? | 319G JhUEHE
a%ruﬁﬁxﬁu UTgel ATURdl Silc?

(A) Pillar file | 91d
(B) Square file | B! BT
(C) Dread naught file | 38 1% BTad

Correct Answer : A

7). What is the purpose of key? | P Il I B ?

(A) To transmit torque | TP THRIT HIUATHATS!

(B) For assembly purpose | e d%-‘lllq

(C) To lock the assembly part | 3R HRT Al HRUGNTA!

(D) To permit clearance between mating parts | o1 UiT R fFasR~g wRari <ot

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : A

8). What is the use of round key in assembly? | s Md fheciar
SUII BT 3MTe?

(A) Secure the component with light torque | dlgC e UE UePh ﬁ?‘f&l—d x|
(B) High torque | 3 ¢l
(C) Unidirectional torque | I {aRITe® cld

(D) Slide along the shaft | M dlujfl IS S DX

Correct Answer : A

9). Which type of screw is shown in the figure? | 3TH S HIVAT BRI
P cRifdaT 3le?

(B) Hexagon head screw | %Hiqﬂﬂ:[%g@
(C) Counter sink head screw | HT3cR Rid g8 ¥

(D) Raised cheese hand screw |\<\,rs / R A 8T h

Correct Answer : A

10). What is checked using a template? | CHNE dTY=H B qUIRIS STTd?
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(A) Diameter of shaft | RMFHl ATH

(B) Pitch of holes | f&= @aug
(C) Hole size | &&= THR
(D) Contour profile of a workpiece | GV R ﬁﬂ? u’rtms?r

Correct Answer : D

11). What is the use of riffler’s file? | AP AR BIgadl YN HTI?

(A) Finishing sharp corners | ?ﬂ&UTWq:UTW
(B) Lock repair | Al W
(C) Silversmith work | qidi HTH

(D) Mould - making work | T - SAUIT 61

Correct Answer : C

12). What is the taper ratio of Gib head key way? | i g€ P! d I R XM
DY 3e?

(A) 119
(B) 1:20
""" 150 -~-"""""""""“"°""°"“"°"°"“"T°"/ " " T T T TS T T T T T TTTmTTmmmTe

Cont act -
(D) 1:100

Correct Answer : D

13). Which file that has sharp and parallel teeth is used on sof’g and non-
metallic materials? | SIUIT BTz SUANT 7S d 7R YIaR T8 I
d FHIR UTd S{Tc?

(A) Pillar file | fOR BT13@
(B) Tinker file | fCdR Bred
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(C) Dread naught file | HAHX / 33' =I1E'tb‘|'§?[

(D) Warding file | AT BEa

Correct Answer : C

14). What is the use of rotary files? | 23] HIZeEdT SUINT BT 3Tg?

(A) To finish sharp corners | cfl&d] CALN T’fmm

(B) To sharpening wood-working saws | €% S-HTH Hdd YURGR HRUYETS]

(C) Die sinking and mould-making work | 3'@ Rifder enidn fiies Iaquard 14

(D) Finish the automobile bodies, after tinkering | IRCARRIGLES &ﬁaﬁmﬁa G| E[UfWT

15). What'is used for placing the instruments during working? | IH
AT UBRUI SAUITHIST 1T AU SITcl?

Correct Answer : C

(A) Wooden blank | GIEEIEIED
(B) Felt pad | BeT US

(C) Steel sheet | wia die

(D) Cloth | ®TUS

16). What is the name of the nut shown in the figure? | &W@f
Acd A1d B 3Tg?
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(A) Castle nut | Heed A¢
(B) Slotted nut | WIcS A
(C) T-Nut|clde

(D) Cap nut | $Y e

Correct Answer : A

17). What is the name of the gauge shown in the figure? | &W‘?ﬁ

TIoi< 919 BT 3MTg?

(A) Taper gauge | TR
(B) Snap gauge | Y I
(C) Progressive plug gauge | PIPINEANURIE
(D) Double end plug gauge | S99 U8 W IS

Correct Answer : B
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18). What is the use of tab washers? | <9 dIIRTT ITINT BT 3HTg?

(A) Locking the nut at the corner | PIUUTd -C AlD BRI
(B) Locking the nut at the center | HF&THTT ¢ Ald HR0!

(C) Locking the nut from the bottom | TBTURA - Al B!

(D) Locking the nut from the top | 9% -c GICERY

Correct Answer : A

19). What is the name of the screw shown in the figure? | &ﬂﬁﬁ
QI(QIOIGQ"LII %&ptl ld Py 3‘”%

(A) Grub screw | U4 ¥H
(B) Drive screw | $Ig® &P

""" (’C)“Sél?faﬁuﬁg’s’c?e@v'@%q?‘*'"@‘g""'"""'""""""""""""
Contact - 9370948482, 8055403224, 9325721873

_____ (D)-Thl:eadcuitmgscre.V\LLaEaRﬂ"I@.----------__------________________

Correct Answer : B

20). What effect does viewing a bar-type torque wrench at an angle have

on the reading? | IR-TIZY Cldh 39 Teh] PIAId Ulfged[H dreHIaR BT
gIar

(A) Correct reading | SRISR dTa
(B) False reading | g dTd-
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(C) Slight error | 4TSl Zct

(D) More error | {8 <l

Correct Answer : B

21). Which file is used for silversmith’s work? | T HTHRTST dTuRed]
SITUTTT Lbl'iﬂtl 19 9.

(A) Min saw file | B9 9T BEd
(B) Riffler file | fXtPeR wIs@
(C) Pillar file | fUTR G1gd

(D) Warding file | d1f$7 1@

Correct Answer : B

22). What'is the name of the part of adjustable spanner marked as ‘x’
shown'in the figure? &Wcﬂ'ﬁ[?ﬁf X' U
TR AR Td BT 3HTg?

I3 94}?482, 8055403224, 9325721873

(A) Movablejaw|€F‘IE|FITaWITrﬁTﬂ\_r|=f
(B) Stationaryjaw|@RGﬁ'

(C) Handle | g8

(D) Knurl | T8

------- Correct Answer i D - - - - - - - - - - - o
Contact - 9370948482, 8055403224, 9325721873
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é{% What is checked using a fillet gauge? | fiheie TS dTUREH ST dURI
?

(A) Pitch of the thread | YT U

(B) Internal radius | Sfafa e

(C) External corner radius | amaﬁwﬁm

(D) Gap between mating components | dio7 gedhintlia faR

Correct Answer : C

24). Which file is used for finishing sharp corners? | AP AR HFTAR
BTH DHRUATHIS] DU WIserdl SUATT DHRTa?

(A) Pillar file | fUeR Bred
(B) Riffler file | RheR BIRa@

(C) Barrette file | E‘IJ'\ﬂE'tFIgF[
(D) Warding file | CIEGURES

Correct Answer : C

25). iRAHi88e rara HPAE8484y (F02°4 374 th2Fauidl8 73
3MparTe Rifade

T SR Hd BT 3Tg?
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(A) Offset screw driver | SITBHT TP FTAET
(B) Philips screw driver | el IHgER

(C) Standard screw driver | HT® ¥ SRR

(D) Heavy duty screw driver | gdl sgc“l P SRR

Correct Answer : A
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NIMI Mock Test

1). What is carried out to %roduce a brighter and smoother deposit in

electroplating? | Scidg & 3oes AT FAde 39 TUR RO B
Gn?Fr?

(A) High current density | 3= ﬁ@'ﬂﬁ Udre 9-dl

(B) Low voltage | &H! ﬁ‘c{ﬂﬂﬂ'ﬁ

(C) High voltage | 3= iacggd als

(D) Low current density | P! faggd UdTg G-l

Correct Answer : A

2). What is the cooling rate of carbon steel during the annealing? |

T SRE HTa- T Il RiTdad & fad! 31g?

(A) 75°Cto100°C / hr
(B) 80°C to 100°C / hr
(C) 125°C to 150°C / hr

(D) 100°C to 150°C / hr

Correct Answer : D
....................................................  revort I

Contact - 9370948482, 8055403224, 9325721873

3). Which metallic coating is done by rolling the layers of metal on to

base metal? | 99 HedaR YT AR A SHIUAT YTl oY daR bl STal?

(A) Spraying | T
(B) Cladding | TSI
(C) Enamelling | sﬁuél‘u

(D) Molten metal bath | Alec Acd 1Y

Correct Answer : B
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4). What is the tempering colour of taps and shear blades? | <y 3o
fRIeR ST ST I B 3HTg?

(A) Pale straw | flhdhc Ual

(B) Dark blue | TS a1

(C) Reddish | ATRR

(D) Brown | TUfdbl

Correct Answer : D

5). Which structure of steel contain 0% carbon? | Kol IOl
WL FRA DI JHIUN 0% 3

N

(A) Ferrite | hRISC
(B) Pearlitelfa&lTﬂ'Ig_c'

(C) Austenite | 3feRe
(D) Cementite | A erse

Correct Answer : A

6). What is the soaking time allowed for 10 mm thickness steel during

""" G A R PR I S R TS L U

(A) 7 minutes
(B) 6 minutes
(C) 5 minutes

(D) 8 minutes

Correct Answer : C
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7). Which type of key is screwed on to the shaft key way? | T4 G|
ANTTER P UHRAT Bl T bl SITal?

(A) Feather key | fihex @t

(B) Flat saddle key | Tcic 98d &t

(C) Circular taper key | TR TR Bt
(D) Hallow saddle key | E’Wﬁﬁﬂﬁ

Correct Answer : A

8). Which heat treatment process affects the strength, toughness and
ductility of steel? | HIUAT SWId IUAR WichAg> dlcha, HURGRUUT
PHTA §Id?

(A) Tempering|%1qﬁ7T
(B) Hardening | BTEfAT
(C) Annealing | THIfeHT
(D) Normalising | STHTRITHRT

Correct Answer : B

(A) Ferrite | RTSC

(B) Cementite | ﬁlfl?l?fc'

(C) Pearlite | IRdIC

(D) Hypereutectoid | EWCI@HETE_S'

Correct Answer : A
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10). Which method of surface hardening is done in a heated salt bath? |

IV UhAHE TRY Alee SIYHE TBY gTs 1T Bl Sfld

(A) Flame hardening | SdTIdTl HER B

(B) Gas carburising | Tumav_@?'l'qgﬂ"l

(C) Pack carburising | WW’[

(D) Liquid carburising | faels EI"TFngITIEﬂ"T

Correct Answer : D

11). What is the purpose of normalising? | BIENIPEIRE 3e B 3G

(A) For adding cutting ability | DHIYUGT &l SIS UaTTa!

(B) For developing high hardness | & & ShUUIl a4 R1d HrugETdt
(C) To increase wear resistance | TIRG UfdhR dTequararat

(D) To remove stress and strain |"dT0f S{TfO1 dToT qv HIVYTS L

Correct Answer : D

12). What is used to achieve faster rate of cooling in the quenching
process? | XA Uichdd Sclg US BIVAMNTST DT dIiRd SId?

(B) Air|&dl
(C) Water | OTOf}

(D) Brine solution | ST3 AgR

Correct Answer : D

13). Which process refinnes the structure of steel component? | DIl
T gehrd! T ]G 8ld?
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(A) Tempering | TERIT

(B) Annealing | QT
(C) Hardening | TS
(D) Normalising | GIEGICIER

Correct Answer : D

14). Which process is adapted to add cutting ability and wear resistance

on steel? | PTG HighT XIcTaR ShicHl &l JHTOT GIRMG WicRIY SIS ug™Tal
PR SId?

(A) Tempering|%fqﬁ1T
(B) Annealing | BT
© Normalising|:|=IJﬁ?1Tq'%FT
(D) Hardening | TS

Correct Answer : D

15). What is the purpose of annealing? | ERIUE) 3R B

(A) To soften the steel | FSIUT YT IRH B!

(D) To refine the grain structure of the steel | el U9 qieel Q& HIUYETST

Correct Answer : A

16). Which heat treatment process improves the machinability and
ductility of the material? | SIUTd! IWUIAT YR WlchaT At IA&HT
30T Adfdhal GURd?

(A) Annealing | (BN

....... (B). -Hardening } BISTRTL - . _ . L.
Contact - 9370948482, 8055403224, 9325721873
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(C) Tempering | CHRIT

(D) Normalizing | BIETIIED]

Correct Answer : A

17). Whaénisaknown as 0.84% carbon steel? | 0.84% CARERSI U ol
?

(A) Cementite | ﬁlﬂ?l%?
(B) Ferrite | TRISE
(C) Pearlite steel | URcIISC |

(D) Hypereutectoid | ET‘CFCI@TE'VIE@'

Correct Answer : C
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18). What is the name of the key shown in the figure? | THdIHA
GRifacieT fareaii 1d S 3MTg?

&
=

NN

2

(A) Parallel'sunk key | FHIAR JAP 4|
(B) Gib head key | [STd 58 &1

(C) Wood ruff key | GSXth B!

(D) Tapper sunk key | TR &b P

Correct Answer : A

19). What is the effect of hardening high carbon steel? | 3= CARERSI

----- BB BIOGTA- DI FROIRT GIei{?- - === === === -===-----o----ooo-oo oo
Contact - 9370948482, 8055403224, 9325721873

""" (A) TImproves the shock resistance [MA UMY YYRT -~~~ "~~~ """~~~ """""""""°"°°°-
(B) Improves the malleability | dafddhdl GURd

(C) Adds the cutting ability | ®TeT &HaT Silsd
(D) Improves the ductility | dafIdhdl JURd

Correct Answer : C

20). What is the effect of tempering on cutting tool? | il ¢eldR
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SR HTg GRUMH gidi?

(A) Regulates the toughness | HUERYUT a0 Fd

(B) Increases the hardness | SHYUUN dlgad!

(C) Increases the ductility | Tl qredd

(D) Improves the machinability | GA&HdT ﬁfﬂ?ﬁ

Correct Answer : A

Contact - 9370948482, 8055403224, 9325721873
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NIMI Mock Test

1). Why is the Go end made Ior;ger than the No go end in a Go and No-
go gauge? | T IO HI-71 TSTHL T TS A1 T USUET did &1 el STal?

(A) To check the part for correct dimension | Y B RAMNITST HFT JUTET
(B) To check the taper on the dimensions | GRHTUMGR TR qUTET

(C) To check the part for longer length | EESKICIEIRTUKSEIR]

(D) To distinguish easily | 8% fi@vardTS!

Correct Answer : D

2). What is the name of the part marked as "X’ shown in the figure? |
TP GRIaCI ‘X’ TV famgifhd dheied] YR ATd 1 Hg?

(A) Inper race | 4TI Y8 220048482 8055403224, 9325721873
----- (B)--Outernaeeml_(ﬂi—'\‘:[--------------------------------------------

(C) Ball cage | §Td fUeiRT

(D) Ball | §id

Correct Answer : C

3). What is the name of the gauge shown in the figure? | &Wﬂ?ﬁ
o A1d B 3MTe?
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F—
—_
_—_
—_

(A) Ring gauge | e

(B) Snap gauge | HT TS

(C) Taper ring gauge | ST T

(D) Thread plug gauge | NN GIERIS]

Correct Answer : C

4). What is the name of the gauge shown in the figure? | Bﬂﬁﬁ?ﬁ
T AT 1Y 315?

0948482, 8055403224, 9325721873

(A) Thread ring gauge | e R Tt
(B) Thread plug gauge | ¥p VAR |
(C) Screw pitch gauge | ¥ US HITR 7ol

Contact - 9370948482, 8055403224, 9325721873
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(D) Thread caliper gauge | € HdIWR T

Correct Answer : B

5). Why extra clearance is provided between bearing and journal in the

aluminium alloy bearing? | &Iﬂ&[ﬁ&lﬂ AT SR H I3 9 SRAA
(RMEK) A UTST oS [RISR-Y b1 Sadrdl.

(A) Lubricant to flow freely | H?Hqﬁf UdTE HRUATS] Ge10]
(B) For corrosion resistance | 751 TR Hidl

(C) To prevent wear resistance | fd3R UfdPR T ugNTa!

(D) To overcome high thermal expansion | STl Wﬁ'ﬂ% TR U0 813, -1
R

Correct Answer: D

6). Which bearing carries the load parallel to its axis? | 10T 3R e
SHETEl JHITR YR dI8d?

(A) Split bearing | ENEERIEY
(B) Plain bearing | W 93T
(C) Thrust bearing | U SIART

Contact - 9370948482, 8055403224, 9325721873

_____ Carrect ANSWEL i C o o L L o L L o o o o e e o o e e e e e e e e e e e e e e e - S

7). What is the name of the part marked as "X’ shown in the figure? |
& gRIJA] ‘X’ WU fagifhd daied YN A1d B 31g?



javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 34

27
|
o o

(A) Leg |

(B) Puller | ek

(C) Bearing | R
(D) Puller plate | &Y we

Correct Answer : D

8). What is the name of the bearing shown in the figure? | &Wma
i ear deifard =19 B 8fg?

82, 8055403224, 9325721873

(A) Plain bearing | @ 93{T

(B) Bush bearing | ST 4311

(C) Solid bearing | ifere 93T

(D) Self aligning bush bearing | AP SATSIIT T A AT

Correct Answer : D


javascript:void(0)
javascript:void(0)

Page 35

9). What is the name of the part marked as ‘X’ shown in the figure? |

3paae eRifdeied Tord 19 ST 3157

(A) Ball|SId &9

(B) Innerrace | QT-RW

(C) Outer race | 3THcR g

(D) Ball separating gauge | qrd AR ot

Correct Answer : D

10). What is the name of the bearing shown in the figure? | G‘Wﬁﬁ
cRifaded ST H1d BT 3MTg?

7777
==

(A) Solid bearing |aﬁ;ré&r&n
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(B) Double row ball bearing | ggI Udkit dldl S 31T

(C) Single row ball bearing | RiTTa 31 did d31iT
(D) Self aligning ball bearing | % SATST didt ST

Correct Answer : D

11). What is the purpose of double row ball bearing? | Q%ﬁ Gl dfl
ST ISR B 3MTe?

(A) To carry axial load | NEERRISELIIE]

(B) To carry radial load | NP NIRRT

(C) To carry bi-directional axial load | %ﬁmﬁgm

(D) To carry radial and thrust load | %ﬁ’f(\“ﬂ%’) Iz ae= gt

Correct Answer : D

12). Which ball bearings are used to accommodate slight misalignments

of the shaft? | MU b I TG HRUIAS] HIUTd Slel SIS
Srdra?

(A) Plain bearing |1§1¢ré&r&n
(B) Ball bearing |a1”aé&ri°é11

© Desglsrepehall beayay GASAES “8b55403224, 9325721873
----- (DY -Self aligning balt bearing-| HH-HTSH TRFSSHAF - - - --------------------

13). What is the name of the part marked as "X’ shown in the fiqure? |
& graaaedl ‘X' U fagifdd daiedl U A1d BT 3H1g?

Correct Answer : D
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(A) Ring gauge | T 7s1
(B) Plug gauge | T IS
(C) Thread gauge | IS ST
(D) Workpiece | FH U

Correct Answer : D

14). How can %{T}l find incorrect - taper components usmg a taper ring
gauge? | IR o] diy=- gfsl gohltl IR geh DY Yﬁ%cLW'?

(A) By not entering | Ua% H hedH
(B) By fully passing through | WWW

© BySgipxeing o8 G5h 885 T 8055403224, 9325721873
----- (D} -By-wobbling gauge and werkpiece § SHeH o1 SHRV-GHHEGEHE - == - == == === == = - - -

Correct Answer : D

15). What is the name of the bearing shown in the figure? | &W‘iﬁ
ST AT BT 3152
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< . )

(A) Roller bearing |Wéa{ﬁ11
(B) Double roller bearing |3aaﬁmé&rﬁﬂ

(C) Thrust bearing | URT ST
(D) Special thrust bearing | fa=IT 3Re ST

Correct Answer : D

16). What is the name of the bearing shown in the figure? | &Wcﬂﬂ‘iff
GRifdeT AT 19 B 8ig?

@)ﬂ
_____________ VNI Y . | /A

Cont g 8055403224, 9325721873

RN /77% 44747 /‘/}?///fg//'/‘/]}/\' """"""""""""""

\3>T>\ A

(A) Ball bearing | Sid 31T

(B) Roller bearing |Wa&lﬁ'ﬂ
(C) Thrust bearing | 3¥R€ F3ARAT
(D) Journal bearing |Wa&|ﬁ"{

Correct Answer : C
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17). What will be the result if rolling contract bearing is fitted too loose

instead of having proper recommended fit? | AT Dicde J3T Ig
WWW@Gﬁqu I YA IR BT URUTH S er?

(A) It will not take the load | I HR STAUIR T-I'I?’f
(B) Heat will be generated | 39Tl o Eﬁﬁﬁ
(C) Roller will not have contact with the inner race | IR Siaid Y WW?@

(D) Roller will get jammed with the outer race | TRl X8 TR S gad

Correct Answer : A

18). How the wear in adjustable bearing is rectified as shown in the
figure? | 3fihdld GRIGATHHTI UG o3RI TR H8 gS%d ool

?

(A) By placing the shim at equal intervals | SHIA SR Rm Bq;l

(B) By coating hard material on the housing | mmﬁﬁﬂmﬁm
(C) By punching the housing at equal intervals | JHIT &WWWW

(D) By adjusting the slotted nut? | TIes ¢ JAHTAIOTT H=T?

Correct Answer : D

19). What is the reason it is recommended to use back-to-back or face-
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gel Uadiedn SR dicde did d3RTHE §dh-g- I fdhal Hh-g-thd
S cied SISl AIuRUATH! fRIGRY HRUAT HRUI B 3HTg?

(A) Carries radial load only | %de &I YR g Adl
(B) Carries axial load only | %des 3{&flg YR aTg Ad!
%% Carries radial and axial load in one direction R’%TIFT 30T 31eflg YR Tt fa=A digd

(D) (g;l{ries radial and axial load in both direction R‘%’Uﬁ 3{Tfor Gl&ﬂ'q Wﬁﬁ'ﬁe{
qarg-

Correct Answer : D

20). What will be the result if rolling contract bearing is fitted too tight
instead of having proper recommended fit? | U mé&rﬁnaﬁm
WWWQM S S BT URUTH gigar?

(A) Power will not be transmitted | i gHTRT Bl SR ATl

(B) Rollers will get jammed | I SITH Blotd

(C) Rollers will not have contact with the outer race | NNRE]] dlgl IRl Tud @WIT ATe!
(D) More power will be transmitted | 3T et TR et oiig e

Correct Answer : B

(A) Needle bearing | TTe@ A34FT
(B) Thrust ball bearing | %% Sid 93{AT
(C) Taper roller bearing | TR TR ST

(D) Angular contact ball bearing | G:Iy*gcﬂ Picac Sid 93T

Correct Answer : A
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22). What is the name of the gauge shown in the figure? | &Hﬁﬁ‘c‘f{
TToTd 1d BT 3HTg?

s> (6
PN
-

(A) Plain snap gauge | @ JY T

(B) Adjustable snap gauge | TSoedd WU IS
(C) Threaded snap gauge | ¥S8 HY Tl

(D) Calipergauge | HfIWR T

Correct Answer : B

23). What is the name of the bearing shown in the figure? | Wﬁﬁ
Geifdeiea JeiRAT 9. BT 3Me?

(A) Roller bearing |Wa&fﬁ'ﬂ
(B) Needle bearing | e ST
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(C) Angular contact bearing | DI HUch SR

(D) Self aligning roller contact bearing | ¥ad: I AT IR TP AT

Correct Answer : D

24). What is the purpose of ring gauge? | T IS I D1 31787

(A) To check the hole diameter | o g HSvaTTa

(B) To check the shaft diameter | T!ﬂ%'\ﬂ?l T AISTUITATS |

(C) To check the tapered shaft diameter | THIHR YIS TN TYTHUIATHS!
(D) To check the internal thread | 3T SN 31T qUTHUATITaT

Correct Answer : B

25). Which type of bearing is used for taking high axial thrust load? | 3=
31&1Y e e YUIITST DIV YhRa a3 aToRd Sild?

(A) Roller bearing | IR 93T
(B) Tapered roller bearing | eUS e ST
(C) Self align roller bearing | e 373 AR ST

(D) Angular contact ball bearing | ﬁ*gcﬂ Hlcde did ST
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NIMI Mock Test

1). Which is a self lubricating bearing material? | @WW@’T@G{W
HeRTd BIvrd 31Tg?

(A) White metal | TT&T 9Tq.

(B) Cadmium-based alloy | HSEIH-3MYTRT YU
(C) Copper lead alloys | did Y e

(D) Sintered alloy | Ries fi% g

Correct Answer : D

2). Which bearing material has poor resistance to corrosion? | G|

SR HERTEdT 7is HHT UidPR Sal?

(A) White metal | Ti@xT YT,

(B) Cadmium-based alloy | TS HaH-TUTRE fIFUTg
(C) Aluminium alloy | &[V?I&Iﬁ'ﬁlﬂ oy Yrd

(D) Sintered alloy | Rics 1% 41g

Correct Answer : B

Contact, - 9370948482, 8055403224, 9325721873
_____ 3). Which bearing material is used for connecting rods and electrical

motors? | <TG9 STl Seifacael Hied STSTaTEId) Siodh Soe w7

?

(A) White metal | Wfﬁa

(B) Sintered alloy | RS srarg

(C) Aluminium alloy | (A3 3y
(D) Copper lead alloy | PIURATS AT

Correct Answer : D
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4). How to overcome the defect of decreased load-carrying capacity with
increasing temperature using white metal bearings? | UTe =T YT
dUR D> diedl dIUHIATYHG dlS-dig- &Hd=I G|

SITaR AT BRI HRIEr

(A) Heat treated to increase the hardness | HSHUN ATGaUINTS IUAAR SUIR Bl ST

(B) Heat treated to increase the temper | CFR dTGAUINITE! SR SUAR el SITdTd
(C) Coated with high strength material | 3% XIail 9rEiTE Aftd
(D) Coated with bronze material | &= JIHEIRTE Sftd

Correct Answer : C

5). How to.overcome the effect of high thermal expansion in‘aluminium
alloy bearings? | g iy 41g SRR 3=
JHTATER Hid BT DHRIdN?

(A) Provides extraclearance on the bearing of outer race | TR TR S eifTaR sifafvad
HoR! UG Y

(B) Provides extra clearance on the shaft | RMUcCaR 3ffafad ﬂ@ o™ ®d

(C) Provides extra clearance on the bearing of inner race | 3Teite Trdciiea S3MfATaR
3fafed BRI UaH H3d

(D) Provides extra clearance on the bearing and journal | S3ufer anfor sHaar sifafvaa
HE'\H ST Hd
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6). Which bearing material has low co-efficient of friction and high
material cost? | ST YT FHHT TOTYH TIRyuaTer g fhid oid
3d?

(A) Nylon | ArIdA
(B) Teflon | TWTH
(© PIastic|W|Tfé$
(D) Laminated phenolic | des ftharcied

Correct Answer : B

7). Which alloying metal bearing can work at higher temperature and
higher load carrying capacity? | 10Tl A1 SR YTTHS SRd S0IdT 9
NS aIg AU & 3118

(A) Castiron | HRC 3T

(B) White metal | RTsc Hed (TiexT &Ta)
(C) Copper lead alloys | HTUX WIS 3flid

(D) Cadmium based alloy | HIS3H I8 3T

Correct Answer : C

%leéﬁj%ntb%ghng A4 8%0r ﬁ%f'eé\%?@&%ct.%ﬁ%ﬂ?@érﬁﬁ%m
""" 1 Fo L3 AN 1] IS | o B 1022 =T R IR R s

(A) Nylon | A@A

(B) Teflon | cWHaH

(C) Sintered alloys | Rics 3@

(D) Laminated phenolic | @ifHHc¢s WHITaaT

Correct Answer : D


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 46

9). Which bearing material is suitable for high strength and shock

g?rs%istance? | IOTC SR TR S Rkt 3107 e iRt g
?

(A) Nylon | ArIdA

(B) Teflon | CUIA

(C) Plastics | s

(D) Laminated phenolics | difH-es fb-iTeray

Correct Answer : D

10). Which bearing material is an alloy of tin or lead-based? | G|
SR AT} St fdhar FRIA-SMTemRd 15y 41d 8fie?

(A) White metal | UTeT UTq

(B) Cadmium-based alloy | HSfERIH- 3G fHyarg
(C) Aluminium alloy | 3T Ty 41

(D) Sintered alloy | &S 1% a1g

Correct Answer : A

11). Which metal pow Wﬁc—r” cess n
torolR Rkt es . 8053403224, 9325724873
(A) Zinc powder | SI¥d Ulds

(B) Nickel powder | Fdd Traex

(C) Chromium powder | ShITHIH TGS
(D) Aluminium powder | ﬁ?g&lﬁ&mw

Correct Answer : D


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 47

12). Which metal is used for electroplating to resist corrosion for a long
period and to retain high polish? | qltd b Ty GUgETST S0 I
uﬁm%w%avmﬂé c DIUTT YT dTIRT STcll?

(A) Lead | RN (@)
(B) Nickel | Fidva
(© Chromium|§ﬁﬁr3ﬂ?

(D) Aluminium | 3{GAH

Correct Answer : C

13). How to.overcome the low thermal conductivity in laminated
phenolics bearing materials? | diAAc s Iy J3iiT TeRacae) S
YHQ ATl BT g DHRIAN?

%A) By replacing the bearing with good thermal conductivity | I Ted] e AAhadg

(B) By notrunning the system for more time | EESECRENIEEINERE]
(C) By having adequate cooling facilities | Eﬁ'ﬁﬁ IS ﬁﬁ%ﬂ SUAR P+
(D) By arranging for-air cooling the equipments | JUHRU USR Wﬁﬁ YIR[[ heeq

Correct Answer : C

Contact - 9370948482, 8055403224, 9325721873
""" 14) -Which-bearing materiat-hasresistance to clremical-reaction? HIORG- - - - - -

SR geRTaqHed IR U UfdhR $&dl?
(A) Teflon | TUITA

(B) Nylon | ArId

(C) Laminated phenolics | difiHcs iy

(D) Lead bronze | R &g

Correct Answer : A
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15). Which bearing material needs no lubrication? | DI ST
AR e I Te!?

(A) Plastics | Wifed
(B) Cast iron | 3fidid TGS
(C) White metal | UT@RT UTq,

(D) Aluminium alloy | {=gfHaH iy erg

Correct Answer : A
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NIMI Mock Test

1). Why is the first rainfall of the season is not usually considered for

rainwater harvesting? | UTqTd IO ATSTUITATST G Ufged U
e dl [ddR [ ev [ Wild '_ﬂélf?

(A) Contains CO, | CO2 JHIAY 3{Te

(B) Contains dust particles in the air | Ea?ﬂﬁ WW SHYdTd
(C) Contains atmosphere pollution | CISICRUIGIES! Uguu A
(D) Contains Silt | THEWFI'Iﬁ'E

Correct Answer : D

2). What is the name of the part marked as 'x’ shown in the figure? |
B A GRATAT 'x’ U Irsiidd deledl YT A1d B 3718?

X

i
o) @ Mt R |
(0

(C) Guide rollers | Tﬂ%@'m
(D) Hand lever | B foray

Correct Answer : A

3). What is the name of the part marked as "x’ shown in the figure? |
TP dH RIS ‘x’ TUH fergifdhd dbeiedl YN A1d BT 3HTg?
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(A) Pivot | fU&IC

(B) Spring | =i

(C) Movable jaw | dd SIdST

(D) Adjusting nut | s Ae

Correct Answer : D

4). Which valve permits fluid flow in only one direction? | 01T Sl
o UhId a1 a YaTey URar adl?

(A) Flow control valve | el Oiog\lﬂ dicd
(B) Needle valve | HSd &l
(C) Non-return valve | qvﬁﬁ?:f%}fﬁ'

""" (DY ~Pressute regutator valve| IR TR I (G1S MEFAD GloG)y ~ -~ -~~~ - - -“-"“--------
Contact - 9370948482, 8055403224, 9325721873

_____ Correct- ANSWeE ;-G - - - - - f f e e m fm e e e e e e e e e e e e e e mm e — . — - - -

5). What is the name of the pipe fitting item shown in the figure? |
19 DY 3MT8?
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y) )

(B) CouplinglEFEIﬁi'lT
(© ReducerRQIW

(D) Concentric reducer | HIY r'\gcb {“lsq\m

Correct Answer : B

6). What is the name of the pipe fitting item shown i |n the figure? |
eI 3TeHd A1d S

(A) CEgdfAtact - 9370948482, 8055403224, 9325721873
————— (B) Plug] TF- N/ | AT s Y /- - - - - - - - - - - - - - -

(C) Coupling | HUfHT
(D) Reducer | W

Correct Answer : A

7). Which standard fitting is used for joining pipeline of different
diameters? | dTATTeAT AT UISUTTS SIS UIMT3! BIUTd Aeh i
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(A) Plug | &I

(B) Caps|®U

(C) Reducer | ﬁ%‘g‘ﬂ?
(D) Coupling |$Qﬁ'i"'[

Correct Answer : C

8). What causes water dripping from the tap even after it is closed? | 7
§¢ HedHaRg! AT UTvil SUH AT HRUT H1?

(A) Defective washer | @WTd arR

(B) Spindle thread wornout | P ERERERILNEIIE!
(C) Bend spindle | U d€ e
(D) Loose valve | g TS ST

Correct Answer : A

9). What causes-a loud noise if a household water tap is turned on? |
RIS GT0gT e ] S 3T H1arS E%ﬁ?

(A) Washer loose in the valve | FSU 7Yl ¥R O

© Nmﬁtﬁ@ﬂqetanﬁﬁﬂﬁéﬁﬁﬂ%, 8055403224, 9325721873

(D) Blockage in the pipe line | 15U A AL 38U

10). How to rectify the ridge formed by the pipe cutter as shown in the
figure? | THdId TRITATIHT UISY e+ dAR ol Kol Hdl god

Correct Answer : A
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hIYd]?
v Z
—
=" o
V/ 7,

(A) Drilling | [Sfei
(B) Boring | ST

(C) Reaming | ST
(D) Filling | ST

Correct Answer : C

11). How pipes are classified? | UTs R Gl S el Sil?

(A) Uses | STANTG®A

(D) Material | IS (HSA a3 )

12). What is the name of the pipe line symbol shown in the figure? |
uﬁ’crar‘s%m

P 19 B 37

Correct Answer : D
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(A) Socket | Hidc
(B) Plug or cap | @ fhar u

(C) Union screwed | gﬁuﬁ@_s’
(D) Reducer concentric | Hgid (PT-HcIDB) NEIIAI

Correct Answer : D

13). Which wrench is used for tightening more than 50 mm diameter of
pipe? | 50 T} UefT SRa I U134 °g HRUARITS! DIV ¥d aTuRe SiTd?
(A) Strap wrench | Tudg

(B) Foot print wrench | Wqﬁ?ﬁ
(C) Chain pipe wrench | %=rtn€cr§a

(D) Stilson pipe wrench | R H-—Iulﬁswi'_t[

Correct Answer : C

14). Wi datte anods 2GS 18055420 IPoAbowsony herdsin
_____ plpe_wqus?_l_qlg’qm Y Ued[ d dSHIQLIdd A P (angleof . _ - _ - _ _______
deviation) B fedl SN

(A) 90° & 45°
(B) 30° & 60°
(C) 20° & 40°

(D) 60° & 45°

Correct Answer : A
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15). What is the name of the pipe fitting\ item shown in the figure? |

SepcitAed cRifaciedr urgy 3HTACH ATd B 3TR?

(A) Close nipple | §ig fHud
(B) Short nipple | e Fud
(C) Long nipple | ois e
(D) Connector | Hde

Correct Answer ;: C

16). What is the name of the %ipe fittin_gt_ item shown in the figure? |

TPHaiHe GRildciedn argd

19 B 38?2

8055403224, 9325721873

(A) Close nipple | CEEIUK

(B) Short nipple | GEHEE G
(C) Long nipple | did AW
(D) Connector | PR

Correct Answer : B
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17). How to arrest the leakage in pipe fitting? | U5y fhfeHed Tesdt S
IGTT?

(A) By applying solution | U ¢ =+

(B) By hem packing | 39 U1 &&=

(C) By rapping with plastic wire | RIRCP dTaRA XJ Hed]

(D) By fixing with quick fix | §d FRTHUT T8 R0 Bt

Correct Answer : B

18). What is the name of the pipe f|tt|ng symbol shown in the figure? |
B S e

(A) Plug | @
(B) Cross | I
© Socketh
(D) Elbow | Teal

————— Correet Answer -A-

Contact - 9370948482, 8055403224, 932572187

19). What is the name of the pipe fitting symbol shown in the figure? |
@ﬁ%ﬁwuﬁqﬁv‘éﬂ T DY 3HT8?

(A) Plug | @

(B) Cross | %I
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(© Socketlﬂm
(D) Elbow | Teal

Correct Answer : C

20). What causes wobbling pipe cutter? | U150 Hex 9bdesUard HRUI
DPI?

(A) Worn out wheel | Gﬂﬁaﬁﬁw

(B) Damaged links | @31 STAd ga
(C) Worn out pin | SiTul et fo

(D) Tension adjustment screw | dUId AT h

Correct Answer : B
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NIMI Mock Test

1). What is the name of the belt fastener shown in the figure? | &Wﬁﬁ

doc BREARD A1d B 3TR?

(A) Wire type | aRR €150

(B) Lagrelle type | TR =Y

(C) Alligator type | 3leiiIer ET{T[
(D) Crescent plate type | foperdic erRy

Correct Answer : C

2). Which is an alloy Copper and Zinc? | e 3101 SR Ay %r@ﬁm?r?

(B) Gunmetal |T|7|'ﬁEF‘[
(C) Brass | 9g
(D) Bronze | ﬁ%[

Correct Answer : C

3). What is the purpose of drill bushes in the drill jig? | f$a formed fga
FSUE T DI 3MTe?
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(A) To support the base plate | S Wicd YR TIOR3

(B) To support the drill plate | f$@ Wedm SMYR TS
(C) To locate and guide the cutting tool | Pl ed YT 3O ARTGRA S
(D) To restrict the movement of job | Sl geraTd USRS

Correct Answer : C

4). Which type of jig does not have base plate? | DI UhRAT formae
ERAN w%(f?

(A) Table jig | ¢d forT
(B) Plate jig | T fomT
(C) Template jig | <HIdic ST
(D) Sandwich jig | S&fda forT

Correct Answer : B

5). What is the name of the jig shown in the figure? | &Wﬂ?ﬁ
forT 1g B 8iTe?

8055403224, 9325721873

(A) Post jig | 9Iee ForT

(B) Solid jig | Tleite oI
(C) Channel jig | e forT
(D) Trunnion jig | $f+a fomT

_______ Correct ANSWET = € o e
Cont act - 9370948482, 8055403224, 9325721873
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Report

6). What is the effect of excessive tension in belt drive? | C3d sré%mir
IR UM b7 GRUTH Bldl?

(A) Speed increases | UGG

(B) Speed reduces | T HH gral

(C) Life of belt increases | S G{Waﬁﬁ

(D) Life of belt decreases | deed S HHT @?f

Correct Answer : D

7). Why copper is extensively used in electrical cables and appliances? |
TR d SUBHRUMHE S YHTUNG did b1 aTaRda?

(A) Ductile- metal | ITHT UTq.

(B) Cheapin cost | CRRIEER

(C) Easy soldering | Hgsl IRt

(D) Good conductor | Tl ﬁ@'ﬂ'ﬂ dIgh

Correct Answer : D

BlaAahrd bi937RIAR4B2 foBRRtORARLeriIB322E2kB T dgddh
----- S{F W—umwmdwﬁoﬁaﬁf@----rl--------------------

(A) Suitable for hot working | TR HIHTS A1

(B) Has ductile property | NCIEEY IIUT%If[ e

(C) Suitable for cold working | 4€ HTHRITA! qrg

(D) Has less ductile property | $U dafre 1IUT‘il'Ff 3T

Correct Answer : D
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9). What is the name of the part marked as x’ shown in the figure? |
TP gRIdaed ‘x’ BUH fagifrd daedn YR A1d H1 3M8?
lX|

- ..

DRIVEN

(A) Step pulley | %Y geit

(B) Driver pulley | S”I&R Jait
(C) Driven pulley|%€?§?ﬁ
(D) Jockey pulley | STT@! geit

Correct Answer : D
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10). What is the name of the belt fastener shown in the figure? |

TP ST See BRERD A1d B 31R?

(A) Wire type belt fastener | 91X 3T SIguft

(B) Alligator type belt fastener | 3fcflilex TRy Siteuit
(C) Jackson type belt fastener | Sl €18y st

(D) Crescent plate belt fastener | %@E’E‘fé‘q\—rﬁ@ﬁ

Correct Answer : D

11). Which type of belt is used if the distance between the shafts are too
short? | SR YT el 3R Gud HH! Y TR DI YhRdl S duRdra?

(A) V' belt | gi-de¢

----- (BY Flafbelt] e ee ~ -~~~ =~~~ """ - T T o s o s sm—mo--o--—-------
.Conta%%- 9370948482, 8055403224, 9325721873
(C) Link belt | Tci® dce

(D) Ribbed belt | Rs5g see

Correct Answer : A

1@2?)%What causes a belt to whip excessively? | deT SR didh W’IH%
?

(A) Centre distance between the pulleys is more | TeH <t AUT 3R SR 318
(B) Less tension | SH!I ATOT
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(C) Overload | 3RS

(D) High starting torque | 3 URY Tl

Correct Answer : A

13). What is the name of the fixture shown in the figure? | Ul flherR A1d
BT 3157

T

:i:_f: k_qz-:: ‘ f.\
=" %‘ =t &Y

SECTION AA

S My i
=y

.
NP

(A) Vice fixture | &Y ThRER

(B) Solid fixture | Jicis R

(C) Plate fixture | e fhaER

(D) Indexing fixture | SSHUIT fPRER

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873m

14). Why tenons are provided at the bottom of base plate of milling
fixture? | QT TRl 9 WieAT deaTdll Tl T SIdTd?

(A) For guiding the tool | WW‘TE'QT:IWBDI

(B) For clamping purpose | Si¢of TSt

(C) For balancing the workpiece | gHY ﬂ?ﬂ%ﬁ HIUYETST

(D) For proper location of fixture | TR g v fAdidardt
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Correct Answer : D

15). Why vertical belt drive is avoided in power transmission? |3215|?ﬂ?£ﬂ
dg-lH GWW@%WW?

(A) Because of the small wrapping of belt | decH] A {iSIoocftIIl;J,oB

(B) Because of the excessive contact | PRUT S U

(C) Because of the gravitational pull and slippage | Wwﬂfﬂ 3Tl 3T T=ut
(D) Because of the increase in surface speed of pulleys | Q?ﬂEIT UEHET=AT CUIGEIH

Correct Answer : C

16). What is the colour of the Aluminium metal? | &T@fiﬁm TN T
DY 352

(A) Yellow | fUges

(B) Reddish | &icT

(C) Whitish grey | Oia3T LRG|

(D) Silvery white | Ticl UigRl

Correct Answer : C
----------------------------------------------------

Contact - 9370948482, 8055403224, 9325721873

17). Which metal is extracted from Bauxite ore? | CICHIE WW
YT HIGl SIIdr?

(A) Zinc | SI¥d

(B) Brass|ftl?|30"

(C) Copper | GICH

(D) Aluminium | AcIH-TH

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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18). How can sligéetween the belt and pulley in a belt drive be reduced?
| IeT SREHS ST ST Yot i ed BT [d HRA HH! HRIAr?

(A) By reducing the pulley ratio | Jeft T[UNRIR S B

(B) By increasing the pulley ratio | ﬂ?ﬂwa@

(C) By dressing the pulley | Q?ﬁ @ﬁm P

(D) By applying hard coating on pulleys | EFﬂTﬂ HSPH U NICG!

Correct Answer : A

19). Which device holds, supports, locates and guides the cutting tool for
operation? | BTV STHRUN HTURRTS] BT ¢ ddd, THI W% Med

HI?

(A) Jig | o

(B) Fixture | ftheRR

(C) Chuck |dH

(D) Machine vice | ARM &Y

Correct Answer : A
""" s

(A) Bronze | ST

(B) Gilding metal | TSI Hed
(C) Babbitt metal | 99I¢ Hed
(D) Leaded bronze|f§[—‘ﬂ'ﬂ?ﬁ|ﬁ§ﬁ€[

Correct Answer : C
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21). Why aluminium is used widely in aircraft industries? | CEIGEBININ
TSN THIUTd G RH1aH BT qroRdla?

(A) Light weight | ®H! go9

(B) Hard and Brittle | HSIR 3T B{iw
(C) More strength | 3{f&I® dldhg
(D) Low thermal conductivity | ! 3D AT

Correct Answer : A

22). What is the name of the clamp shown in the figure? | G-I'W'ﬂ'q‘iﬁ
Ad BT 3Te?

- eem mm mm mm mm mm o mm o mm o mm o mm o mm o mm o mm mm mm omm Bf am am m Em Em E Em E Em E E Em Em Em Em Em E Em Em Em Em Em Em Em Em Em Em Em Em E Em Em E E E m Em mm m m= w== =m

(B) Screw clamp | ¥p &
Contact - 9370948482, 8055403224, 9325721873

(D) Toggle clamp | CHT el

Correct Answer : B

23). What is the purpose of setting blocks in fixture? | flraeerRTe siaq
T FHRUAMET I B 3Tg?

(A) To position the balancing weight | WWW

(B) To position the clamp and locators | FTrg 30T Ao R HRugat
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(C) To position the fixture on machine table | AR CaaaR fthaeR Sauarra!
(D) To position the work related to cutter | Hei Ydftd e R 9 Siiawr T 91dt

Correct Answer : D

24). What is the name of the jig shown in the figure? | &W@r
forT A1d &1 3Me?

-

(A) Box jig | de STt

(B) Post jig | GRc o1

(C) Turn over jig | = 3N forT
(D) Sandwich jig | Hsfaa forT

Correct Answer : C

Contact - 9370948482, 8055403224, 932572187m

25). How the tension of belt between two fixed pulleys are adjusted? |

&H R geliaeha deedr AT & THRITT bl STar?

(A) By sliding the pulley | Jail TRBIIA

(B) By fixing idler pulley | S¢R gt—ﬁ Py v

(C) By adjusting the length of belt | Secd! Aidl FHRASIT B
(D) By adjusting the screw of pulley | Q?ﬂ?H b AT B
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Correct Answer : B
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NIMI Mock Test

1). Why universal uni-joint coupling is only suitable for remote manual
operations? | gl-—los'{-lﬂ qﬁ-\mac HUIHT hdx AN II?}L&IF[
D1 A1 3MTe?

(A) Provides a soft start | qeg > dld Uald B

(B) Transmitted low power is not smooth | TN FHT It ﬂa'ﬂaﬁ?[ EIE|
(C) Used in pairs on cardan shafts | BT AR Ssgided aluRe S

(D) Used to reduce the engine vibration | EﬁF[ U HHI HIVTHIS] aTuR ST

Correct Answer : B

2). Which is the imaginary circle on two matting gears? | ?ﬁ:lﬁmﬂ g1
fToR Hel SUIR BTeU-ich dgjcd PIU?

(A) Rootcircle | TE THd

(B) Pitch circle | fUe I&ha

(C) Base circle | ST b d

(D) Addendum circle | 3[SSH T d

Correct Answer : B
....................................................  revort I

Contact - 9370948482, 8055403224, 9325721873

3). What i |s the name of the part marked as ‘X’ shown in the figure? |

3MTpdiHed aRifdeied X' WU fergiicd dheiedl HIIT Fd B 3Tg?
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(A) Inner piece | SR 09
(B) Outer piece | 33X U
(C) Rubbing surface | T WY

(D) Centrifugal weight | @@W dc

Correct Answer : D

4). Which type of drive is shown in the figure? | &Wﬂﬁ?ﬁﬁww
STecg aladd 3M8?

C _ L 1_ L ®
g ™~ )

- = =
@ | )

(A) Stepped drive | WS SRR

(B) Open belt drive | 3t S3® IUSI
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(C) Right angled drive | HTCHI 3@

(D) Cross-belt drive | HIH-aC SR

Correct Answer : A

5). Which gear is Symmetrical to each other and transmits motion at
right angle? | HIUTAT IR THADIRI THHA 3118 0T HIcdhIHTd Tt

?

(A) Spur gear | ¥R fiIRR

(B) Mitre gear | ek iR
(C) Helical gear|%?ﬂﬁﬁlﬂ?
(D) Hypoid gear | BIAUSS TR

Correct Answer : B

6). What is the name of the coupling shown in the figure? | 3=

(A) Slip coupling | &Tg Huc

(B) Plate coupling | @I HIAT

(C) Clamp coupling | FI HUCT

(D) Universal coupling | gﬁaﬁamﬁﬂn

Correct Answer : D
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7). Which coupling prevents relative motion between two shafts? | DI

HUICIT &I YMUeHETT ITUe Tt IGd?

(A) Rigid coupling | FEP HUICT

(B) Clamp coupling | FI HUTHT

(C) Safety coupling | IV HUT

(D) Universal coupling | qﬁaﬁaaﬁqsﬂn

Correct Answer : A

8). What is the effect of the disengaged clutch position in a multiplate
clutch? | Hediwie s el fediss derd QIR i URuimy gidl?

(A) Clutch provides drive | 9T gl Ual- Hd

(B) Armature transmits the drive | SR ISIEE TR Hd

(C) Transmission gear box starts to run | EA'IT\‘:IfEIYFT R Sl Tﬁﬂﬁﬁ?{

(D) Transmission gear box brought to rest | a'FFlﬁl'Q'H iR sfe Weardl

Correct Answer : D

9). What is the name of the clutch shown in the figure? | &Wﬂﬂ?ﬁ

SNEEEIERC R R R
nt act - 905|709 8482, 8055403224, 9325721873
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(A) Air clutch | 3R ocTd

(B) Cone clutch | ®IF aad

(C) Centrifugal clutch | S¢THTTA FT9
(D) Over riding clutch | 3R TSI FTd

Correct Answer : C

10). What is the name of the clutch shown in the figure? | &Wﬂﬂ?ﬁ
FTdd 1d B 3H15?

2 g

(A) Air clutch | T3R &

(B) Dog clutch | ST T
(C) Cone clutch | CAEGNE]

Correct Answer : B

11). What happens if a flat pulley is provided with larger crowning? | SR
quTe gaital Hisl Ggpe fadl Tl ok &1 glga?

(A) The arc of contact is more | Uit 3 3ifdes &ﬂ%
(B) More power can be transmitted | 3 Qdit THIRT Pt SIS, b
(C) Easy to shift the belt | Sec RI%e S0 91T 318
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(D) Belt will be damaged | 9 TR g5

Correct Answer : D

12). Which type of drive is shown in the figure? | &W‘?ﬁ 10 Uh R
SIS arRadd 318?

i
1

(A) Stepped drive | @%’Sﬁ?@'

(B) Rightangled drive | HTCHI T
(C) Open belt drive | 3U9 e BT
(D) Cross-belt drive | PIg-deC Sig®

Correct Answer : D

13). What is the name of the part marked as "x’ shown in the figure? |
MBS GRIGA] ‘x’ U [-gifdd doledl U ATd By 3M8?

3055403224, 9325721873

(A) Flank | el

(B) Addendum | 3SSH
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(C) Face width | B¥ SISt

(D) Root circle | 3¢ Ibd

Correct Answer : B

14). What is the name of the part marked as ‘X' shown in the fi ure7 |

X' UM fagifdd dheled U A1d B

(A) Flank | teics

(B) Top land | ST &S
(C) Fillet | fheic

(D) Face | B9

15). How the gripping property of the dried belt is improved? | CICRE]
STl Ueh s DRIl YR Sld?

(A) By using Jockey pulley | SIEH| Q?ﬁ CIISRS|

(B) By applying powdered resin | TdSR [ AN] h=

(C) By Reducing the distance between pulleys | Q?ﬂ'q?ﬂﬁ 3R S Hed
(D) By Increasing the distance between pulleys | Qﬁﬂﬂ?ﬂﬁ 3R dTeq
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Correct Answer : B

16). Where is universal coupling used? | ZF@Id HUCHT $& TR SId?

(A) Automobile vehicles | TG aT8+

(B) Textiles mills | gaftral
(© Compressors|6|v"\IJTaﬂﬁ
(D) Pumps | T

Correct Answer : A

17). What.is the name of the part marked as x’ shown in the figure? |

TP GrRadeed ‘x' U fagifded dhciedl YR A1d H1Y 3fia?

(A) Pitch line | T amg=
(B) Dedendum | f&SeH

(C) Addendum | 3rSsH
(D) Face width | B STST

Correct Answer : D
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18). Why is a spider coupling typically used for low power drives? |
WIS HUfel] JMHId: HH] TlaR SIEERIREICIENY STd?

(A) Larger size | HIGT THR

(B) Heavy | Rl /T8

(C) Rubber spacer | Y&} TR
(D) Rigid | PSH

Correct Answer : C

19). Which type of gear drive changes rotary movement to linear

movement? | HIUIAT TSR TR SRGHL MATBR Tl U X8I
n?ﬂmﬁuwéﬁ@?r?

(A) Hypoid | 8[@UsS

(B) Herring bone | IERRUCIE]

(C) Rack and pinion | 3P 9 U=
(D) Helical gear | galpd IR

Correct Answer : C

20).
creep

(A) Rope drive | 3T S15&
(B) Gear drive | W@é@

(C) Pulley drive | QFﬂE{I%C_Ef
(D) Chain drive | 39 ST

Correct Answer : D
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21). Which chain drive provides noiseless and uniform drive? | CAUGIECE|
I3 Rd 310 THh A S U Hdl?

(A) Duplex chain |§'®Tﬂa7-[
(B) Toothed chain |§23%=r

(C) Simplex chain |ﬁi’FCI?1Tﬂa:[
(D) Triple roller type chain | Eﬂﬂﬁﬁ??@é‘f

Correct Answer : B

22). What causes excessive tension and additional stress, leading to

éeé%ruced belggoer%%w%avna 30T Sfffad 10T HRH sidl, ST

(A) Wrapping angle is big | U B AT 3
(B) Tension ratio is higher | JqUITaT THTOT SR 3178
(C) Arc of contact.is less | U TT 3ATh HHL \?vI'I%

(D) Arc of contact is more | TUcs 3T AP 3Me

Correct Answer : C
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(A) Spur gear | ¥R IR

(B) Mitre gear | iy R
(C) Hypoid gear | gAUIRS TI3R
(D) Herring bone gear | eI TR

Correct Answer : B

24). Why the face of pulley is “Crowned” in power transmission? |

e dg-H e Gafiel GHAT 3Ye Bl Sddla?

(A) Increase the tension | ATUT TG [AUITETST

(B) Decrease the tension | dIU] HH! HRUYTS

(C) Keep the belt centralised | §¢€ TETUTT IGvaTHTS |
(D) Allows free rotation in pulley | Hﬁﬂq?f[ ﬁ:ﬂ&ﬁ[ fthrugrg Hﬁq?ﬁ ad

Correct Answer : C

25). In which type of belt drive, the driven shaft will rotate in the
opposite direction to the driver shaft? | I UHRAT Sice Wﬂ?ﬁ,
MU gAY RMICA] [v ?

(A) Stepped drive | ¥US SE&@

(B) Ogsyhelaiive | GRTGIHGUS2. 8055403224, 9325721873
----- (Cy -Cross beltdrive FPIavE G - -~ - -~ -------------------o--ooo-

(D) Right angled belt drive | 3¢ 37T deT IE@

Correct Answer : C
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NIMI Mock Test

1). Which term refers to the wear and tear of gear tooth due to cyclic
load under high contact stress? | DUl e o=l YD
R 1d 3 glogrn daH da?

(A) Crushing | SR

(B) Cold flow | ¥S YdTg

(C) Fatigue breakage | Ychd] Hieul
(D) Rippling | FXafeRT

Correct Answer : D

2). How hydraulic transmission force is controlled? | STAURT dg+ et
PdId?

(A) By air|8d -
(B) By gears|ﬁ?ﬂ§f
(C) By fluids | SoaT =

(D) By electric | ﬁ'c{ﬂﬁe[

Correct Answer : C
....................................................  revort I

Contact - 9370948482, 8055403224, 9325721873

3). Which term refers to the wear and tear of gear tooth due to extreme

loads and notches? | DHIUTd sg SAd HR HTTOT W R grei=A
iora daftid R

(A) Fatigue breakage | Y&dT HISUI

(B) Cold flow | Y€ Udlg

(C) Rippling | RufciT

(D) Crushing | SR
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4). What is the value of bar in metric unit of pressure? | QIdl &I fl'gpﬁ
Teadid IRE! fbad Bra?

Correct Answer : A

(A) 1Kg/mm?
(B) 1 Kg/cm?
(©) 1Kg/m?
(D) 1Kg/dm?

Correct Answer : B

5). What is the name of the gear mechanism shown in the figure? |

TH AL ERIfdced TR JHUR 19 BT 3MTa?

(B) Bevel gear | ded IR
(C) Rack and pinion | ¥& d fO=ta=

(D) Worm and worm gear | gH g g iR

Correct Answer : C

6). Which gear runs more silently than a spur gear? | TR FORUET HI0Td
N
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(A) Worm and worm gear | 9 3101 9 iR

(B) Mitre gear | R R
(C) Bevel gear | ded IR
(D) Helical gear | %?ﬂﬁﬁl’q?'

Correct Answer : D

7). Which law states that the pressure exerted on a liquid is transmitted
equally in all the directions? | GoATaR &1 AT SRIT al d fG=IHT IRET™
UERA! 81 DIl (T 3ie?

(A) Boyle's Law | a’lé'ﬁqfﬁ
(B) Pascal’s-Law | b dl
(C) Hook’s Law | Wﬂf

(D) Archimedes Principle | MBS dd

Correct Answer : B

8). Where are worm and worm gears used? | aq errﬁaﬁﬁuﬁga%w
NIGIGE

(A) Used in index head gear mechanism | 3@3’\‘[ 88 I8R davig aTuRd wird

(C) Used in oil pumps | dd UU 5 aioRd STd
(D) Used in centre lathe | Hex 0¥ HEY ATOR Sild

Correct Answer : A

9). How much pressure is acting on piston 2 as shown in the figure? |

P aRifdeTyH fived 2 TR faod! T/ SRR 3iie?
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PISTON 1 PISTON 2
10 m* 50 m?
100 kg 500 kg

| -
R bt

10 kg —
\ - L\ j

(A) 5Kg

(B) 7.5Kg
(C) 50Kg

(D) 12.5Kg

Correct Answer : C

10). Which law states that if the mass of gas is compressed or expanded
at a constant temperature, then the absolute pressure is inversely
roportional to the volume? | dld d¥JHIT SR R QoG NEIER fopar

Dol R URYU Gd IesTehT R MHTUN, ST 31 O f1ad

(A) Pascal’s Law | U eq dl

(B) Boyle's Law | aTgFﬂaT
(C) Archimedes Principle | fHHS da

(D) Hook's Law | §$Fﬁ

Correct Answer : B

11). What causes rippling in gear tooth? | R qrd 74 rippling BRI
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(A) Extreme tooth loads | 3Ad gId YR

(B) Cyclic loads under high contact stress | 3= U qUITaTETe] Th 1T HIR
(C) Overload exceeds tensile strength | Gﬁ%’ﬁﬁ—é T Ut Maisd

(D) Misalignment of gears | Rt ﬂﬁ%{ ESREGE |

Correct Answer : B

12). How end thrust in helical gear is rectified? | 8fcrpa fRuET TS 4
BT GS bl SITel|?

(A) By using bevel gear | Sed IR ags
(B) By using triple helical gear | feua gftrma s ame
(C) By using herring-bone gear | sf-a9 R argsa

(D) By using single helical gear | RiTTat gfcred Y aTaeH

Correct Answer : C

13). Which system is operated by compressed air as energy inputs? | Sl
$1YC TEUH DIBITS USRGR IV WUl ATeiidcil STd?

(A) Hydraulic System | SISIciid ReeH

(B) Pr@pmbtacystem O3TOP48432, 8055403224, 9325721873
""" (€ Electrical System [ Sqap Ry ™~~~ """ T 7T T T TT oo oo Tmomomomommmmmm

(D) Mechanical System | b d Reed

Correct Answer : B

14). What is the name of the part marked as ‘X' shown in the figure? |

fEITd qrRaaae ‘X' WU fagifdd dbaed YN A1d B 3HTg?
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(A) Depth gauge | S IS
(B) Template | ¢TUdiC

(C) Profile plate | m@?
(D) Pitch gauge | {09 IS

Correct Answer : B

15). Which term refers to the wear and tear of gear tooth having surface
irregularities? | YSHIIGRIS S{TTHTAT Sreciea TR arci=ar giisi-Sfiior
SITSTRlT SPIUTCT 2eg HafHd bRl

(A) Cold flow | ¥S TdT8
(B) Fatigue breakage | Yd&dl HISUl
(C) Crushing | BRI

Correct Answer : C
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NIMI Mock Test

1). What is the name of the hydraulic pump shown in the figure? | ICEIG]
GRIGCIe] BIAS eI YU A1d BT 3MTg?

%

UK K //

\\i?_l N

%

(A) Axial piston pump | 3y fies Uy

(B) Bent axis piston pump | qraral 3ef fike1 Uy
(C) Radial piston pump | X&ad 0% Uy
(D) Vane pump |a=ru'tr

Correct Answer : A

2). What is the name of the part marked as ‘X’ shown in the figure? |

TP qrRIdaied ‘X FeUH fagifdd daledr YR F1d »1g 3178?

F A
) — = NN e NIl<N
_______ ///4_______ 2y | ————— | & - 4 4
f/é/Contac_t_"- 370948482 55403224, 9325721873
_______ T R R T I \ \ "\l .
x

(A) Cylinder | Riciex
(B) Piston | fUzes
(C) Seal | Ryat

(D) Spring | f&ITT

Correct Answer : B
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3). Which device in pneumatics is used for converting pressure energy of
compressed air into mechanical energy? Tpied ga=l ald SO

IoHE TR HRUANTS! gHCRTHE SUHRUT ATOR Sil?

(A) Pneumatic actuators | T*‘Iﬁ'% W
(B) Filter | fthee

(@) Regulatorﬁ'ﬂlﬁﬁ
(D) Cylinder | BRER

Correct Answer : A

4). What is the name of the part marked as "X’ shown in the figure? |
B AHS GRIdAT ‘X’ U fgifdhd & oedl YR A1 By 3Ta?

.

A1 T AL
A N
p—= — =
—i IR =

= ¥
\—X

(A) Cylinder | f{diex
(B) Piston | fURc

_____ (€} Spring | BT _ _ L _ L e eeeaao--
(D) |ng{)&}rﬁ%ﬁa—gm@370948482, 8055403224, 9325721873

Correct Answer : C

5). What happens if the air is supplied through Y port instead of X port
in the shuttle valve as shown in the figure? | IJATd GIRITITIHTUI Yed
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ElegdY X Ul Udsil Y UicgR gl Racd H1Y Blgal?
+.|l

o PN Q

(A) Air will not flow through A | A B g4l SITUMR ATe!

(B) Air will flow through X | 8T X [ aTgd
(C) Air will flow in reverse direction | €dT 3dc FRE dlsa

(D) Air will flow through A | A 94 g4I dlgd

Correct Answer : D

6) How lea ka?{e can be arrested in a pressure relief valve? | IR Rl
?

(A) By tightening the adjustable screw | AR Ih Yg P>

(B) By pouring wax into the valve assembly | Fleg &@@ﬂmﬁﬁmw

(C) By using shellac in the assembl Jl O HY o ardeed
n?act - 937094§ 82 8055403224, 9325721873

_____ (D)_By.usingsujtahlesealsl.lﬂ"'q.@ﬁm------__------________________

Correct Answer : D

7). What is the Sl unit of force? | I Sl Uhdh DY \’rﬂ%’?

(A) Kilogram
(B) Newton

(C) Dyne
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(D) Pounds

Correct Answer : B

8). Which device used to remove dust, chips and other foreign particles
from the fluid? | SaUCTTdIa e, e 3Mfor 3ar R 01 PrevgrTe!
DIV IYDHRU ITUR STc?

(A) Pressure regulating valve | WW@E
(B) Filter | fheer

(C) Accumulator | STeIHICR

(D) Regulator | XTcexX

Correct Answer : B

9). In which situation the pressure switch of a compressor restarts? |

TR sh U URR g IReTe gidl?
(A) Pressure level drops to high level | =R tied 3o UId@BIaR HH! Bld
(B) Pressure level reaches to minimum level | SdId Ui fohHTe UTdesiar igiad

(C) Pressure level drops to the pre-set level | IR ded Hi-9e dedar ToRd
(D) Pressure level reaches to the maximum level | qdTd UTdest AT UTdes [qdd tﬁ‘eﬁ%l?[

CorrecOprat@ct - 9370948482, 8055403224, 9325721873

----------------------------------------------------
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10). Which formula calculates the pressure? | CALG| JA ald arela?

(A) Force + Area
(B) Force/Area
(C) Force - Area

(D) Force x Area

Correct Answer : B

11). Which formula calculates force? | ®I0d I Ia Hivlq?

(A) Pressure + Area
(B) Pressure x Area
(C) Pressure - Area

(D) Pressure + Area

Correct Answer : B

12). Why filter is installed in suction line of hydraulic pump? | ETCI@W
GUT=AT HoRH AsTH fiheel &1 §¥ad Sd?

W Tl oL (478 gAB I8, BB 403224, 9325721873
----- B) -Te prevent the entering-foreign matter-| TAH! JEGRAH J4% TRFVARAS!- - = - = = = = - - - -

(C) To reduce the pressure in the pump | U4 e GaId HH HIUARIS

(D) To increase the pressure in the pump | UY 49 Gald dleauara]

Correct Answer : B

13). What is the name of the filter shown in the figure? | &W@f
qlgqeiedl [theekd ld oplY 3‘”%?
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(A) Absorbent filter | STsqRac flheex
(B) Mechanical filter | ABHd ftheex
(C) Magnetic filter | Hod ftheex

(D) Return line filter | ﬁ?ﬁ?ﬂé‘*f iR

Correct Answer : B

14). What is the name of the part marked as ‘X’ shown.in the figure? |

P TREae X’ TUH fagifdd dbaied] YR A1d DI 3Tg?
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FETURN LINE

TWO PDEITEIN VALVE -

PUMWP &

PRESEURE LINE 3 }\u ]
HGHPRERARE [ — — — — — — —| ]
oL o A\ T Shas | -

LOWPRESRLIRE |— — — — — — — A
OL /A~ Mgl

(A) Two piston valve | aIH fue osucij\
(B) Double acting cylinder | Sd¢ Tt fRdsy
(C) Pump | UH

(D) Reservoir | eRamR

Correct Answer : B

15). Which valve controls the direction of the flow of fluid? | AWK ASU

----- EC L e T N e | e LR L
Contact - 9370948482, 8055403224, 9325721873
""" () Flow control valve [BEI S Gled ™~~~ "7 """ T T m T T T T o T m e m s

(B) Non-return valve | q14-Ret area
(C) Pressure control valve | USR W %Uk'_d
(D) Directional control valve | STNGREd WEVW

Correct Answer : D
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NIMI Mock Test

1). What is the name of the valve symbol shown in the figure? |
dicd Id-5ld ld o lY 3‘”%?

FLOCW PATH

POPPET

(A) Non-returnvalve | q1-Re area

(B) 3/2 way valve | 3/2 d dTed

(C) Roller vaive | TR dTed

(D) Pressure control valve | UIR EF’@F‘[ dled

Correct Answer : A

2). What is the name of the part marked as "x’ shownin the figure? |
RIEATd qRIaaedl 'x’ WU fogiferd dbaiedl URTE A1d HBI 3{Tg?

SOOI AR
B
oD
CUARARRRNEN SRR

(A) Return spring |ﬁ?¢ff@i’ﬂ

(B) Contact terminal |¥iﬂ$€ﬁ¢lﬁ
(C) Coil core | HISA PR

(D) Armature | 3THER
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Correct Answer : D

3). How to reduce the air flow from the sketch shown in the figure? |
IhdHYA gddl Udlg hdI S| HIIAT?

il <M

\

(A) Applying more pressure | Wmmw
(B) Applying less pressure | Wiﬂaaﬁlm

(C) Less opening of needle | isd ot SusUl
(D) More opening of needle | e sifde Igsul

Correct Answer : C

_____ 4). What is the name of the pneumatic valve symbol shown in the figure? _____
| SRR I 05086 A8% T 8058403224 9325721873

____________ BN Ty T WY A

T 1
2

P

(A) Directional control valve | SR ﬂﬁ?{ %TFT
(B) Roller valve | TR Fied

(C) Pressure valve | URR ®icd

(D) Flow control valve | wal ﬁ,\ﬁ led


javascript:void(0)
javascript:void(0)

Page 95

Correct Answer : A

5). What is the cause for the armature being attracted to the coil core in

an electromagnetic actuated switches? | C
PIsd HRBS DN BIUATd HRUI B 3HTg?

(A) Eglﬁeg:romagnet field produced in solenoid coil | @'FFI’T%’S Eﬁs‘m@%’ﬁ@ﬁﬁ?ﬁ@'
GEIES

(B) Electromagnet field produced in relay coil |ﬁﬁ$ﬁ%’ﬂﬂ@3ﬁ5@ﬁ'ﬁf Pics daR 8Id

(C) Electromagnet field produced in return spring | Re- e $c\1d§\lq‘:|d PleE TR 8ld
(D) Electromagnet field produced in armature | STHERHL SAGEHIC HIS GUR BId

Correct Answer : A

6). What is the effect of the disc not being seated to its positionin

neumatic swing check valve? | IdIT T 9 Rlegned feth fo=a
1 SHITET DY YR gldi?

(A) Regulates the flow rate | Udlg aX IEBIERETG

(B) Air flows in reverse direction | g4l 3¢ic ﬁ'ﬂ-ﬁf a'l?ﬁ

(C) Prevents the air flow in reverse direction | 3¢ fa=m Ea?ﬂ Udle PIRCIRRECEG]
(D) Controls the direction of flow | Uarer fg=m Mafd srd

CorrecOpat@ck - 9370948482, 8055403224, 9325721873

----------------------------------------------------

7). What is the name of the valve shown in the figure? | &Wﬂ?ﬁ
JTedd A1d B 3M15?
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(A) Flow control valve | ! q'o;\m OGTvd
(B) Ball type check valve | §1d 15U 9% ®led
(C) Swing check valve | & ¥ ®iea
(D) Pressure type valve | U3R Y ®icd

Correct Answer : C

8). What is the air flow direction shown in the figure? | W?ﬁ

89T YaTeTdl fa= &1Y 3118?

(B) 2to3
(C) 3to?2

(D) 1

Correct Answer : B

9). What is the name of the position of electro pneumatic push button in
the change over condition shown in the figure? | BEIGCERRIE N
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3{lgx HISIAHE Sctag! gHIcH YR ICUTAT R -1d BT 31g?

EH

(A) Vertical position | &fﬂ?ﬁl@{?ﬂ

(B) Normal position |W@I?ﬁ

(C) Actuated position | qdfd® (U
(D) Horizontal position | axferet Rt

Correct Answer : C

10). Which type of hydromotor is shown in the figure? | &n@?ﬂm@rﬁw
TR emg%lma SRIAd 3Ty

(A) Gear type | R e8U

(B) Vane type | & TS0

(C) Piston type | fiRe ergu
(D) Propeller type | gieRersy

Correct Answer : A
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11). What happens, if voltage is applied to the coil of a relay in an
electromagnetic switch shown in the figure? | &W?ﬁ
goide e RagHeENd R Hisdaar @iees! AR] BT BT Blsd?

12 14 22 24
RELAY COIL A1 || |\|
mmmm L] f; Az |'_|1 21
? ARMATURE
’_{; N ",f
f; 4 g,«— INSULATION
: L]
B y CONTAGT
1 f, TERMINAL
il - ]
coLL —1-] @ L]
L 2
]
7 Py

[
Al AZ 42 1

(A) Armature start rotating | 3R fopRor g= g
(B) Intensity of current increases | ﬁﬂ'ﬁﬂ YdTeTa dledl dled
(C) Intensity of current decreases | ﬁﬂ'ﬁﬂ Q’d’l%’liﬁ NIEGIEEZ:] éT?[

(D) Electromagnetic field created | ﬁ'c.f'ﬁ?[ ﬂﬁ?ﬁ'ﬂ &7 TR gid

Correct Answer : D

""" automation s\ §t’gfn’?’§%§1l:vﬂd: ¢ WM@W%@%?S R

(A) Pressure relief valve | URR e %T?d
(B) Roller valve | AR Ficd

(C) Flow control valve | Bl o'bg\lﬂ &led

(D) Directional valve | STRERMA &lcd

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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13). What is the name of the part marked as ‘X' is shown in double acting

cylinder figure? | X' ®UM fegifhd doledl YN A1d BT 318 SN gosl
YéE{QﬁﬁFITGﬂ%?

YT iR 3pdiA

(A) Guide ring | Mes R
(B) Piston rod | e s
(€) Lock nut | diep dc

(D) Cylinder cap | Ricier &4

Correct Answer : B

14). What is the name of the valve shown in the figure? | @mﬂ?ﬁ
Jiedd 19 B 3MT6?
A

(A) 5 port 2 position valve | 5 qic 2 tﬁ%ﬁ'&'ﬁ e
(B) 3 port 2 position valve | 3 01 2 Uisiee sl
(C) 4 port 3 position valve | 4 O1c 3 URiRE &l
(D) 4 port 2 position valve | 4 UI¢ 2 Uishee wled

Correct Answer : A
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15). What is the name of the part marked as "x’ shown in the figqure? |
TP RIdaed ‘x’ TUH fagifdrd daledl YR A1d H1 &n%?

X -

S o

(A) Disc | &%

(B) Stop plug | %19 &I

(C) Hinge pin | &=t fa9

(D) Disc hinge nut | SEAREEH

Correct Answer : B

16). How the air flow in a single solenoid valve is shown in the figure? |

----- Ut T3S A HYIH SAdT-TaE SHPHIL- T GRAFH-3HG2 - = == = == = = - - = -
t act - 93709 8055403224, 9325721873

(A) Port1to?2
(B) Port2to1

....... () O > 0t o T
Contact - 9370948482, 8055403224, 9325721873
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(D) Port2to3

Correct Answer : A

17). What is the closed port in symbol shown in the figure? | &Wcﬂﬂ?ﬁ
ERIERE §G Ui BTy 3HTg?

A 2
l /T
& 1 a
(A) Port1
(B) Port2
(C) Port3
(D) Port4

Correct Answer : C

18). What is the name of the valve symbol shown in the figure?|
dicd Id-5ld -Id o lY 3‘”%?

(A) Directional control valve | ST oio@m OsTc'd

(B) Flow control valve | Bl Oivcflm gled
(C) 3/2 way valve | 3/2 4 Fled
(D) 5/2 way valve | 5/2 d ®lcd

Correct Answer : C
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19). Which valve permits fluid flow in one direction and block flow in
opposite direction? | DIV FSUT GaUCTYTT YaTe ThT fG2H 1T sefich
qaTgTal fdog fa=M TRa <

(A) Check valve | G %v'l?d

(B) Shuttle valve | RIcd Ficd

(C) Flow control valve | Udlg fd=or areg
(D) Pressure relief valve | ISR Nal% @led

Correct Answer : A

20). What is the name of the symbol shown in the figure? | &W‘F«a
1d BT 3Te?

AN
=
V

(A) Moving part of valve | gied g1 fhrdl YT

(B) Pressure relief valve | ISR Nalw Bicd
(C) Double acting cylinder | Sd¢cl et fReiar
_____ (D) _Single_acting_cylinder with_spring_| /i 3 Ritrer a7 Ryciey

Cont act - 9370948482, 8055403224, 9325721873

Correct Answer :
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NIMI Mock Test

1), Which cutting fluid is used for turning copper? | did YTd=Ul hIdpTHI
I o aTuRd ST?

(A) Kerosene|ﬁ?ﬂ:{
(B) Mineral oil | i Ra siisd

(C) Soluble oil | Fegad 3figd
(D) Lard oil | TS 3fisa@

Correct Answer ;: C

2). What is the name of tooth type lock washer shown in the figure? |
TPt SR Y TISU i aIRRd HId BT 3MTg?

_____ (A) Internal type LEETAUBNR - - o - o o o o c oo o e o e e e e e e e e — e e e

B &N AacL | w¥34@948482, 8055403224, 9325721873

(C) Counter sink type | B3R R UHR

(D) Internal and external type | 3¢ d TdC—Hd UHIR

Correct Answer : B

3). Which document used to authorize and instruct the work team to

tak duction work? | G S UISaRM ddb 90N SHfdEHd ST e
akKe a prodauction OI’

GXIUAS! ATURAT STl
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(A) Process chart | ufeear A

(B) Productivity report | Sl dl 3Hgdic

(C) Job card |fo375[§

(D) Inspection report | AUl 3rgarat

Correct Answer : C

4). What is the effect of the lubricating film formed around the shaft
when the shaft is rotating at full speed? | QMU = fohrd S garr
RMPEHIA! TIR Bl He+ thede o GRUIH §ldi?

(A) Increases the frictional resistance | Y01 UfeRIY® &I dredd
(B) Decreases the frictional resistance | BRI GRICED &HT HH Ped

(C) Increases the speed of the shaft | R4l a7 agad

(D) Decreases the speed of the shaft | Rl I HH] Eﬁ?ﬁ

Correct Answer : B

5). What is the name of the lubrication system shown in the figure? |
19 BT 3Te?

8487 8055403224, 9325721873

(A) Wick feed | [as fthg

(B) Ring oiling | f¥T afigeni
(C) Splash system |¥CIF:IJTQTﬁ|ET[

(D) Manual screw down system | 8T @Eﬁm
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6). Which type of lock washer uses flat or oval type head screw? | DIl
OhRd Tl dIRR Tic fdhal 31I06Q'1 SCARE 65 I dIURdid?

Correct Answer : B

(A) External type | URICd UBR

(B) Internal type | S¢3d UHR
(C) Counter sunk type | PISCY e ver

(D) Internal and external type | 'écc{'-lﬂ d Qd{-ld-lrﬂ UhIR

Correct Answer : C

7). Why is the blended oil preferred in automatic lathes when compared

to fatty oil? | the! darAT qo—d Wddierd auae fHisd qarer Uiem= &l fao
?

(A) More fluidity | 3ft& a¥ear

(B) Less fluidity | SHI TRaTa

(C) More resistance to corrosion | TS 3 UfddR
(D) Less resistance to corrosion | TSl HHI UfddR

Correct Answer : A

Contact - 9370948482, 8055403224, 932572187

8). Which document is used to record the part number, name of the part,
batch number ar%bug’_cl%%uantlty'? | HIVT ShHID, IR A1d, &< hHich 3H10]
CEEREINREIR] PV EAYI ATIRE STa?

(A) Batch processing record | CERIGIGUECIR)
(B) Flow process chart | Ydlg gfshar are
(C) Bill of material | QT fad

(D) Production cycle time | 3dIGH dh a9

Correct Answer : A
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Report

9). Which property of lubricant readily se arates water from the oil? |
SITOITT HIOTCT TOTeH WGTEFU?

(A) Viscosity | fIedr

(B) Oiliness | dddcyun

(C) Emulsification | SATIthHRA

(D) De-emulsification | SI-SHATRITBH I

Correct Answer : D

10). What is the frequency of 0|I|ng symbol marked as ‘x" shown'in the

igure? &
fig |én;?cﬂ&%. x' TR FRgifchet cheiear Higfeiw g

(A) Daily | RIS
(B) Weekly | ITTgid
(C) Monthly | 9TRI®
(D) Yearly | A&

Correct Answer : C
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11). What is the name of the lubrication system shown in the figure? |

MFHHED SRIfdded Wg- UUld A1d B 3Tg?
g

(A) Wick feed | fa@ ftrs

(B) Splash feed | T fthe

(C) Ringoiling feed | &7 gt firs
(D) Hand pressure feed | T &F aIg

Correct Answer : A

12). Which cutting fluid is used for heavy duty machine with less cuttin

speed? | ST BTN ARM A HH! HelT 7T T3! HIUd BT G

Contact - 9370948482, 8055403224, 9325721873
----- Ay -Synthetit flaid [RASG G =~ ==~ " =~ " =" == """

(B) Straight mineral oil | fBFRd 3fisd
(C) Fatty oil | el 3iT3d@
(D) Soluble oil | Hiegad 3Hisd

Correct Answer : C

13). Which cutting fluid dissolves in water giving a milky white solution?
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| QYT UGN S0 GUIR SIUId i g9 UTudTd faRaesd?

(A) Fatty oil | el dd
(B) Straight mineral oil | IRs JiAol dd
(C) Soluble oil | faRU=UR a4

(D) Blended oil | fif3d da

Correct Answer : C

14). Which is classified as hydrostatic lubrication? | WETCI@EV'W
HE WU difihd 3ie?

(A) Fluidity of lubricant | SO ARard

(B) Oiliness of lubricant | U] dAB YN
(C) Thick film of lubricant | SR oiTS fhe
(D) Thin film of lubricant | Ol UTdes e

Correct Answer : C

15). What chart shows a graphical representatlon of the activities

gerformed during manufacturlng|7 | WWW

Cont ?370%31%4?%2 8055403224, 9325721873

(A) Man-mac |ne chart

(B) Control chart | ERELEIH
(C) Process chart | BIERISI
(D) Barchart | dR e

Correct Answer : C

16). Why are the servo mesh oils prepared as gear oils? | T4l AR 3Higd
R 31 TUH &1 TR bl STdd?
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(A) Resistant to deposit formation | feuifere TR HrvarTdt ufaRiys

(B) Resistant to lubricity | SgfaRictar ufcRiy®
(C) Resistant to oiliness | SNECINIRCIRREED
(D) Resistant to viscosity | fe@equnar ufcRIu®

Correct Answer : A

17). What is the frequenc of oiling symbol shown in the figure? |
él?ﬁﬂ fabeft 3mme?

MFaHed eRifaerca

(A) Daily | GRI
(B) Weekly | STiTgl®
(C) Monthly | H1&®

(D) Frequently | ERLl

Correct Answer : B

AR ST ?z?r Q]%Tmﬁr HIUTd BT FISS dTRA

(A) Soluble oil | Giegad 3fisd

(B) Sulphurized oil | TEPRISS dd
(C) Kerosene | CRIIG]

(D) Dry | [

Correct Answer : B
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19). Which system has categorized wick feed lubrication? | DU YUITc -
fdeh thTe We-Td BRI el 3Te?

(A) Hand feed | 53 ftFS
(B) Force feed |1ﬁﬁﬁv_€§

(C) Splash feed | o ftre
(D) Gravity feed | YGId! fths

Correct Answer : D

20). What is the name of the format used to list the parts involved in the
manufacturing of an assembly? | e e T8

TR ST hRHCT AT B 3Te?
(A) Productivity report | ST dl 3fgdlc]
(B) Flow process chart | WdTg Ufehar El
(C) Batch processing record |§ﬂ§h@ﬁiﬁ Pl
(D) Bill of material | ATfecard fad

Correct Answer : D

(A) Increases friction | YNU] qTefaur
(B) Reduces friction | gyur HH HId

(C) Increases the loading capacity | HR &HdI CIFEEL
(D) Increases the speed moving elements | fiRom-ar i 71t arefaur

Correct Answer : B

22). What is the name of the lubrication system shown in the figure? |

. pdiHe SRifdded W YUl A PRSMe?.
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(A) Wick feed | [as fthg
(B) Ring oiling | & &Vléﬁl'il
(C) Gravity feed | Yzl firs

(D) Splash lubricating | T FATHCIT

Correct Answer : D

23). How low speed gear is lubricated? | HA1 Wte R dur fadt-eig?

(A) Oil pump | 359 T
(B) Splash type | TR TRy
(C) Gravity feed | Jgicl fthe

c C;Aontac_:B - 9370948482, 8055403224, 9325721873
orrect Answer :

''''''''''''''''''''''''''''''''''''''''

24). Which cutting oil is used in automatic lathes? | WY gferd dY 7l
DIV IV SHigel ATURIA?

(A) Soluble oil | Giegad 3fisd

(B) Fatty oil | thel 3fisd

(C) Compounded (or) blended oil | oy ar‘fs‘a
(D) Straight mineral oil | fBFRa 3ffsd
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25). What is the name of the document that shows the details of the job
performed in a production shop7 | UISaRH YMUHE dheied] HIH ElCIEZhFI
C‘&(‘Ikd\flld -11d [

Correct Answer : C

(A) Job card | Sid BTe
(B) Estimation card | 3T HTS
(C) Productivity card | SdIghdl PTS

(D) Cycle time card | §II%d ded HIe

Correct Answer : A
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NIMI Mock Test

1). Which aligns the machine tools accurately? | CAUGR:EUR] e 31q\chuu\|
?

(A) Try square | W3R A0 Tl
(B) Precision spirit level | STHYUTHI UTAD]

(C) Steel rule | a g
(D) L' Square | T 3R

Correct Answer : B

2). Which property of oil catches fire and continues to be on flame? |

HITHIAT 3T ART AT0T &} Tad Sodd J8d?

(A) Flash point | HHR Ulsc
(B) Fire point | Wqﬁ
(C) Pour point | 3R 1TI%‘C’

(D) Oiliness | 3Tsa-9

Correct Answer : B

Cont act - 9370?48482, 8055403224, 9325721873
3). What is the purpose o fQunda’tlon olts in machine errection? |

SHRUNT B S Y decdl 323 BT 3Tg?

(A) For better performance | IR Ted] SRS
(B) To hold the machine firmly | H=NH 9% YR= SqUaTHATS!
(C) To improve the machine life | AR 3T JURUITS!

(D) To increase the productivity | STl qIGJUIRITA]

Correct Answer : B
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4). What is the name of the part marked as "X’ shown in the figure? |
THAHE GrRaaaed ‘X' U fagifdd dbaied YR A1d BT 3HTg?

)

=

[
[e
!
[
S

P4

(A) Master link | HRCX INGY

(B) Intermediate link | ScxHIfSUC foid
(C) Joining link | SIS i
(D) Chain |3

Correct Answer : C

5). What is the material of sling hooks? | &' gl TrEh w1 3Mle?

(A) Low carbon steel | HH BT T

_____ (,B).J-Ugh_carbonsle_ell_@m}?ﬁﬁ___________________________________
(©) Hgﬁmnaﬁtsteéu%%r?@:@aﬁ&ﬁ%& 8055403224, 9325721873

(D) Medium carbon steel | AL BT Lrd

Correct Answer : C

6). Which wire rope strands are twisted in the same direction? | CAUR]
dRR AT dRT b T fGRA fUsdd Srdra?

(A) Lang lay rope | UKL
(B) Rigid lay rope | Roite o 4
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(C) Regular lay rope | ¥R o U

(D) Combined lay rope | HIERAS o I

Correct Answer : A

7). What is the name of the lifting equipment shown in the figure? |
39d IUHRUIT A1d BT 3‘”%7

(A) Fork lifter | BTch foroex

(B) Stacker | LR

(C) Hand palate truck | Eﬁﬁ'ﬁ'c.’ [+
(D) Crane | B

Correct Answer : C

..... e S AR S A
oUL

(A) Floor crane | TSR o
(B) Jib crane | for@ #4

(C) Derrick crane | SR o
(D) Gantry crane | ﬁiﬁ%

Correct Answer : B
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9). What is the name of the foundation bolt shown in the figure? |

MHHe SRIfdacd] BRISYH dieed A1d B 3HTg?

Z

7

(A) Eye bolt | 3T dice

(B) Bent bolt | ¢ dleT

(C) Rawl bolt | I e

(D) Conical-washer foundation bolt | HIHIPd aIIR BISSTH diee

Correct Answer : D

10). What is the purpose of rollers placed under the equipment? |
YT Wiel! AR SAUITT I3 BT Hd?

""" (A) "To move easily | g9l gadl [hal G¥dduief  _  ~ -~ " T T o ro Tt m T T T
Contact™ - 9370948482, 8055403224, 9325721873

_____ (B). To lift easily| T8 STTTITAT _ - - — C & o o o o e o o o e e e e e e
(C) To lower easily | T89S Wcil SARAVARTAST

(D) To raise easily | 989 R IAAUITS!

Correct Answer : A

11). Why packers are placed between lifting load and wire rope sling? |

forfteTT Als 3101 IR Y T <RI UdhR Bl dadl Sdid?

(A) Lifting load will not be damage | YR 3T TH BIVIR ATl
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(B) Lifting load will be in the center | faIfGET dIe TeraR 3

(C) To maintain the centre of gravity | WUT &% GUIMTS!
(D) To protect the sling at the edges of the load | el HToTax &l TRfea
HITYATST

Correct Answer : D

12). What is the name of the crane shown in the figure? | &W@f
sheTcl -T1d 1Y 3MT5?

(A) Gantry crane | et B
(B) Pillar jib crane | fOeR g o
(C) Travelling crane | @%T’ﬂ“’[av_r{

CorrecPNt acf - 9370948482, 8055403224, 9325721873
orrect Ans

wer :
"""""""""""""""""""""""""""""""

13). Which consists of a bridge that is constructed from several girders
supporting travelling hoist? | JaRil gls el SR GUMT
anu%mugfﬁw &r%?

(A) Floor crane | TSR oo
(B) Jib crane | ISEE &
(C) Over head crane | Gﬁ%?'%g Cor

_______ (D)_Eramederridccrane.lﬂz‘EL@l?E_%______________________________________________
Cont act - 9370948482, 8055403224, 9325721873
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Correct Answer : C

14). Which operation is performed before geometrical tests on
machines? | ARG YIS ITeoaigdl HIvrd SRR P Sid?

(A) Erecting |§%T
(B) Inspecting |€7\Ea—cﬂ:"[
(©) Levelling | AT
(D) Grouting | TSN

Correct Answer : C

15). Which lubricant property can withstand high pressure or load? |
ﬁwwwuﬁmm%mwwsﬁ?

(A) Oiliness | &ﬂ%ﬂﬁﬂ

(B) Viscosity | @'\‘lﬁﬁ
(C) Fire point | BRR Gisc
(D) Flashpoint | Bai< Oisc

Correct Answer : B

----------------------------------------------------

Contact - 9370948482, 8055403224, 9325721873
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